Lecture – 2

The Basic Problems of an Economy

The main problem of an economy is the scarcity of resources in the face of unlimited wants. The scarce resources have alternative uses. The problems of an economic society are expressed by some questions. The questions are as follows:
1) What commodities should be produced and in what quantities?
2) How should these commodities be produced?
3) For whom should these commodities be produced?
4) What should economic probations be targeted for a sustainable growth?
These problems and solutions are systematically discussed below:
The Problem of Determining the Commodities, Services and Quantities to be Produced: “What”
It is the problem of determining the commodities and services which will be produced. Related to this problem it is necessary to determine the quantities of selected commodities and services. If there would not be scarcity of resources, the necessity of selecting and determining the quantities of commodities and services would not have arisen. The concepts of opportunity cost and production possibility curve can be employed to explain the problem expressed by the word, what?’    
Opportunity Cost and Production Possibility Curve: Opportunity cost of undertaking an activity is the forgone benefit from the next best activity. If the owner of a piece of land decides to build a house on it, the opportunity cost of the house will be the forgone benefit from its next best use which is, say, growing paddy in it. 
The idea of opportunity cost can be explained with the help of an opportunity curve, alternatively known as production possibility curve. Suppose a hypothetical economy can produce only two commodities, guns and paddy, by using all its resources. The production possibility of the economy is shown in the following figure.
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We measure the quantity of food in million metric tons along the vertical axis and the number of guns in millions along the horizontal axis. Initially, the economy is at point A producing 0A quantity of food and no guns. Perhaps both the people and the government of the economy express their dissatisfaction in having no guns and would like to produce F1C guns by sacrificing AF1 quantity of food. In other words, the opportunity cost of F1C guns is AF1 quantity of food. 
Suppose the new military ruler of the country wants more guns. The economy moves to D from C gaining HD guns at the cost of HC tons of food. The opportunity cost of producing guns increased with increase level of gun production. The production possibility curve shows efficient production levels. The production level shown by H is clearly inefficient. The production possibility curve shows the different bundles of two commodities, food and gun, that can be produced utilizing all available resources in the economy. For example, the country can produce the combination shown by C or the combination shown by D. Combination C signifies F1 tons of food and G1 units of Guns. Similarly D shows F2 tons of food and G2 units of Guns. Each point on the curve AB shows a specific combination of two commodities. The country chooses one and only one combination from the set of many combinations on the curve AB. It can not choose more than one combination on the curve. Similarly, it can not choose the point M, which it cannot produce with the given resources.  
The Problem of Selecting Method of Production “How”
There are different methods of producing the predetermined quantities of a number of commodities and services. For example, there are labour intensive and capital intensive methods of production. We can explain the methods by the figure given below: 
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The vertical axis of the figure measures capital and the horizontal axis measures labour. Combination C with 0K1 units of capital and 0L1 units of labour can produce as much of the commodity as the combination D with 0K2 amount of capital and 0L2 amount of labour can produce. Input allocation at C, however, implies a capital intensive method of production, because, at C production of the commodity requires more capital than labour. Similarly, combination D implies a labour intensive method of production. This problem may be solved by choosing proper technique of production. Capital intensive technique is preferably employed in heavy industries while labour intensive technique is preferably employed in light industries. 
For Whom should these Commodities be Produced “For Whom”
The third problem of an economic society refers to the problem of distribution of the produced commodities and services among the consumers. The people of the economy face problems in meeting their wants for daily necessities if most of the produced commodities and services go to the consumption of a small section of the people. In Bangladesh, small proportion of population is rich and majority of the people live under the poverty line. The problem expressed by the phrase “for whom?” refers to the problem of selecting a widely accepted criterion of distributing income among hundreds of millions of people living in the country.  For whom the commodities will be produced? This problem may be solved by following the principle, “Everybody should get that much share of total product which is compatible with his/her contribution to total product.”   
Problem of determining the Rate of Investment:
The fourth problem of an economic system refers to the problem of determining the rate of investment for the economy. Investment increases the size of capital stock by adding new capital to the previously existing stock of capital. Capital is produced means of production. It is a kind of commodity used as input for producing more commodities in future. Investment comes from saving, which in turn is obtained by postponing present consumption. We need higher levels of investment to attain higher growth rates of the economy in future. Future consumption levels of people will be higher if the economy grows at a higher rate. A little sacrifice at present may make our lives much more comfortable in future. The authority of an economy has to determine the amount of present sacrifice in the form of investment for attaining higher and sustainable growth rate of the economy in future. To solve this problem of determining the rate of investment the economy should forecast a realistic, achievable and a maintainable growth rate.
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